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General Instructions :

(i)
(ii)

(iii)

(iv)

(v)

(vi)

(vii)

All questions are compulsory.

Questions number 1 — 5 are of one mark each. The answers to these questions
should not exceed 20 words each.

Questions number 6 — 10 are of two marks each. The answers to these questions
should not exceed 40 words each.

Questions number 11 — 16 are of four marks each. The answers to these questions
should not exceed 100 words each.

Questions number 17 — 21 are of five marks each. The answers to these questions
should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your answer-
book.

Questions number 22 — 27 are of six marks each. The answers to these questions
should not exceed 150 words each.

1. orgfad i, sTgfad SHetaat a2 3= fUSe Tt o SIfdia TReT0T Sl |/ o
o 3fed & 2

How far is the demand for reservation beyond SCs, STs and OBCs justified ?

2. YRA W U FE S ATt AT i FERERT T T E 2
What has been the ideology of left parties in India ?

3. 319 39 FUT W Fel dF TeHd ¢ (o Wi AVelehioT 1 hael € 390 o feIu i Hgof
farver o foTw weRAms € 2

How far do you agree with the statement that cultural globalization is dangerous not
only for the poor countries but for the entire globe ?

4.  TEAfaRad O @ SF 91 ST §RT AHAIE & o065 3qh dfvash J5 I fegdn o1 2

(@)
(b)
(©)
(d)

FIT TR
Fifeamy arR

Which one of the following was a part of its global war on terrorism by the U.S. ?

(a)
(b)
()
(d)

‘Operation Desert Storm’
Computer War

‘Operation Enduring Freedom’
Videogame War

5. ORA-EE G o R ue fafere faeivdn 1 Sooig St |

State any one special feature of Indo-Russian friendship.
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6.  &AIT MehieTeT ¥ fue @i o | cliehdife STaeia o aiehl bl iR I e T | 2

Assess the role of democratic negotiations in responding to regional aspirations.

7. 39k foER H, T SFSYY Wied XA FaTcHehdT ol Gg I ohi [S9T § Teh ek T 372l
T ST TqoRg g o geT H 9 2

In your opinion, was Anandpur Sahib Resolution a plea for strengthening federalism
or a plea for separate Sikh nation ?

8. 1960 & TIF U, AT HERIFAl + EREART &l &g W 590 o1 W@ & fow, == 9 o1
TqEAl T EETeR 6T 2 2x1=2

Starting in the 1960s, the two super powers signed which two significant agreements
to control arms ?

9. gl (9) ¥ T T Fort B G (37) H T T Faqret & AW & AT T HA BT | 4x Vs =2

(37) (=)
(a) TICT TEIGT S (i) YR AEERET T (ATEER-AaTRT)
<l J&IIh
(b) T TSH IERE (i) SLUHF. H GEUEH
(c) =% FFRR (iii) 1952 | 1986 H T T S WiAS T |
(d) STTSiEE T (iv) 1T STaE-5 fBa & Uieg AR S
TeAT

Match the following leaders in List — A with the suitable statements in List — B :

List- A List-B

(a) Lal Bahadur Shastri (i) Founder of Communist Party of India (Marxist-
Leninst).

(b) C. Natarajan Annadurai  (ii) Founder of D.M.K.

(c) Charu Majumdar (iii) A Member of Parliament from 1952 till his death
in 1986.

(d) Jagjiwan Ram (iv) Coined the famous slogan ‘Jai Jawan — Jai Kisan’.

10.  TSEHEAT TR & SR SR TRAE 5T Wi 27 W & &9 § 3@ T, 3 0 el
T 3NMHE I eht Gid =T % Jvad g3 | 2x1=2

Assess the commonly agreed upon two goals visualized by the Indians during the
national movement which have been fulfilled after independence.

11. = & 78 aTtae Hfqal 7 = Hl e Hi 6 T) e § T ggam 2 4x1=4

In which four ways did the new economic policies of China benefit its economy ?
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12. et wifeRd © 7 ST & 2 I8 faRaIiyer Ter T Gt UNus & foh T8 391 &t ared
3T = 2 1+2+1=4

What is Veto Power ? Which member nations of the U.N. Security Council enjoy this
special power and why ?

13. VSR | AT o B A Dl & H HH Y ST € 2 T HIT | 4
How does globalization result in erosion of state capacity ? Explain.

14. 1979 T SHdT WHR & U9 & (7T TR el IR HRehi bl GTeior HifvTT | 4x1=4
Analyse any four factors responsible for the downfall of the Janata Government in
1979.

15. TEE & R H foom & foe Soeem uifefaat s e S | 4

Explain the circumstances that led to the accession of Hyderabad to India.

16. AT YRA H URH 9 ThL 37 Th HagM & ciich hd I8eid @ & ? HRT W WL ST | 4

How did the methods of voting in free India go on changing from time to time till day ?
Explain the reasons also.

o oo

17. FATARad STEaRoT i SFYe UigT q91 ST U ST J9-T o ST 17T

AT T Haed T SRAT-UGI a1 A& HRATS &l eldl | 8ok fanid fohat Toen
ifed S T -4 Thsle BT 3 THF STUaTST & W1 Ukl | 33T Sl & | 39
ATANER, TSI T Ueh SBIH AT ol 30 ATRIBHRI I AR STITES ST 9 € aifeh A I8
e o Slihas i TXATST | o F-HN TG F Gohdl & | IRA & HHIH RIoH agd
T&T & ST 1 SITesh a1 & 38 FY H Gor= € | UH | 37 SR - Aliehad i aTe Tat
gl e ST fod fhan € |
(i) AR % IRUTHEET YRAHET it et [t T TUsR &1 Sooid HieTy |
(i) 379 el T TEAd & {oh WHISTR R[] Al Bl TGN Tal Tgardl o ST

T fema &
(ili) AT I TS TAT SR & el T T 2 1+2+2=5

Read the passage given below carefully and answer the questions that follow :

Movements are not only about collective assertions or only about rallies and protests.
They involve a gradual process of coming together of people with similar problems,
similar demands and similar expectations. But then movements are also about making
people aware of their rights and the expectations that they can have from democratic
institutions. Social movements in India have been involved in these educative tasks
for a long time and have thus contributed to expansion of democracy rather than
causing disruptions.

(1) Mention any one right granted to the people of India as a result of any movement.

(i1)) How far do you agree that social movements have contributed to the expansion
of democracy rather than causing disruptions ?

(iii)) What is the relationship between the movements and the democratic institutions ?
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18. TTAfcfEd 1acReT & SIHYEs 3Teag- HIGT a2 3T MR W T M0 ueai & W
liglicias
TRAT] I N G | AT 97 B AT THAH IS T o 3T F fastar & € — 9w T
AT ol ST BT | 3R i 7Y I U TGHAUT Hieh 3Th URHTY] EIUART i AT e
T HITET HAT & 9 ff T & I 3 Fag A Ak BRI S | 47 8 gel %
U TH-TH & Hhae! 3R TR THTH TgaM Dl a1 &1 &It & {6 g off IeT I
TART & ST ARl | 39 RE, TENdl & " e Uidgigdl g % SesE oA
IR FF T € Fél of T 3R 39 R St W | IREReF 3TRyey i feafa 7 g
@t T B fea, wfere 7 feafa ot wiasfEar & 7 W el |
(i) TETIRTE & Sre el Wida sl Shact Sags af i o &l ?
(i) ST SRHT] VIRt o S &1 el WRHT0] o {0Taeh ot el &t Hehl ?
(i) ST’ o Toh Bl T HIT | 2+2+1=5

Read the following passage carefully and answer the questions that follow :

In the event of a nuclear war, both sides will be so badly harmed that it will be
impossible to declare one side or the other as the winner, even if one of them tries to
attack and disable the nuclear weapons of its rival, the other would still be left with
enough nuclear weapons to inflict unacceptable destruction. Both sides have the
capacity to retaliate against an attack and to cause so much destruction that neither
can afford to initiate war. Thus, the cold war — inspite of being an intense form of
rivalry between great powers — remained a ‘cold’ and not hot or shooting war. The
deterrence relationship prevents war but not the rivalry between powers.

(1) Why did intense rivalry between the super powers remain a cold war only ?

(i1)) Why can’t a nuclear war between the two nuclear powers be decisive ?

(iii)) Explain the logic of ‘deterrence’.

19. = ST T STEER0T 1 SATYdS 3TEFT T T2 39 I LMW U1 & I feIigu
ZeA0T TR | AR 1 RS M-Sl T & | 39 aTen[R ST URTETE 91 i ST
AR T AR | TN & | 3 &7 % urd I <90 H et & H Ueh Teqon fopar
o | T ¥ € T AMeX g 1o 3 Ural 39 H kel bl A SH-THT et € | T
M B X S 3T g9 o ST AN — e i 3TST A & 3R WfATeHeTe olishas i
TEaTl T THAT FA & | T M b AN I Hl BT IR WO B STUET AR
FFAT A & 3R T & 5 37 39 & foTw ek € 3 & | 3 R o Heweul € itk
TEet © HMAT ST W@ § o6 oliehca (ot fowa o o=t <9 o wet-%et 9obdl € | 39 foferst 9 S
ﬁwm%m%mﬁmﬁémwwww%l
(i) VAT T i THBRIAT Sl S BT |

(i) SfTOT URMET & U oF I H Ahas S TS TS e % HROT 1 oo

HIT |
(iii) 279 39 I F Fal TH TeHd ¢ [ e halel {99 & &1 S H & Hel-%oT Feball
g7 1+2+2=5
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Read the passage given below carefully and answer the questions that follow :

Despite the mixed record of the democratic experience, the people in all these
countries of South Asia share the aspiration for democracy. A recent survey of the
attitudes of the people in the five big countries of the region showed that there is
widespread support for democracy in all these countries. Ordinary citizens, rich as
well as poor and belonging to different religions, view the idea of democracy
positively and support the institutions of representative democracy. They prefer
democracy over any other form of government and think that democracy is suitable
for their country. These are significant findings, for it was earlier believed that
democracy could flourish and find support only in prosperous countries of the world.

(1)  Assess the popularity of representative democracy.

(i1)) Analyse the reasons for the widespread support for democracy in the five big
countries of South Asia.

(i11)) How far do you agree with the statement that democracy can flourish and find
support only in prosperous countries ?

20. TE FHA THATEH Sl SHAT X TRl o e & I Farei ) feoqoft &Hwar € |

T G T T T A TIT AT T A feAiaa i & 3o AT
(i) A H I AR T a1 Pl ga1-T 3R 3T A @y |
(i) & I TS a7 =T H fohg T o Welell bl G917 € 2

(iii) TSTATST Sl TS Sl &7 HH & AT IE A TS AdT gRT =T AT qehT, STIeht
T H, FRl qH T T2 1+2+42=5
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Study the following cartoon carefully and answer the questions that follow :

T S ———
'Lﬁ" lo No, Don't Get up
] your Highness. Just give
& me this. That will do g‘
4 \x {
f A3
/
2

\¢

This cartoon comments on the relation between | - ]
the people and the rulers in the Princely States.
(i) Identify and name the leader shown on the right in the cartoon.
(ii) What type of relationship does the cartoon indicate between the people and the
ruler ?
(iii) In your opinion, how successful was the approach adopted by the leader on the
right to solve the issue of Princely States ?
AT ATAREd Te hael greantad Wil o o ue- @& 20 % ©H W |
e T T FT 3 I ST
20.1. STOMEIETA e® i el HIAURES H SY-HETAHT i o 2
20.2. WeAfqud W R XA § d, AR % TERST H 9RT 9HR §RT -7
STRETE e T o 2
20.3. IR H ST H & o6 ot = T & foeeg e S SR /i 2 1+2+2=5
Note : The following question is for visually impaired candidates only in lieu of
Q. No. 20:
Answer the following questions :

20.1  Name the Deputy Prime Minister in the first Council of Ministers under
Jawaharlal Nehru.

20.2  Before signing the Instrument of Accession with the Indian
Government, what assurance was given to the Maharaja of Manipur ?

20.3  Which section of the people in Hyderabad rose against the Nizam and
why ?
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21.

) WORLD
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Scale 1:179m (Approx)
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few T v & T T wEtas | 9= 39 (A), B), (©), (D) @ (B) 3% 39w M
€ | A S T STHER % SMER W 3% Y EHT a9 39k A, JAN TS SAFHRT S HH
TIT qAT WA 3R I T T ANGAHT o T H I IT-YReTarl | fArfaw |
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1)
(i1)
(iii)
(iv)
(v)

TART 1 T8 AR 1 50 G&AT | Haid ew AT BT AN
1)

(ii)

(iii)

(iv)

(v)

o€ ST ST S 1992 H geat THei gat o |

T 213 T T W SeasTeha J97 |

STe-forRTe, ot TS STRICA o [oTd ST ST AT 30 |
FIEI-TIEIHTCT hi AT § TR T 7T 397 |

fava & @S At il TAY TR & 9ad F8T 3eIR q97 |

8

5x1=5
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In the given political outline map of the world, five countries have been marked as
@, , @, @ and @ Identify these countries on the basis of information given

below and write their correct names in your answer book along with their respective
serial number of the information used and the concerned alphabets as per the

following format :

Serial No. of the information
used

Alphabet
concerned

Name of the
Country

(1)

(i1)
(iii)
(iv)

™)

59/1/2

(i)  The country where ‘Earth Summit’ was held in June 1992.

(i1)) A leading contributor to green house gas emissions.

(iii)) A country known for its anti-dam pro-river movements.

(iv) A country exempted from the requirement of the Kyoto Protocol.

(v)  The second largest producer of crude oil in the world.

9
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A =faiad w7 waer ghearfaa et & forw e 9@ 21 F =H W E |
e ST T T 9 I oA
21.1. 39 <30 T A FAT@Y ST 1987 H Hiflgaer THT W g&eR [ 7T |
21.2. 39 S H AW [NGT SRl 1997 H TRl Helbier T FEA a1 2
21.3. I &% I & AT At W R fastad 3o g 17 e g
e fFa 3w H & 2
214 3T STALEH T HIF TT I 3T T-JRICT o [ ST A & 2

21.5 30T e % 39 S T oot HITST S a1 o hie T I TG gard del
@ 5x1=5

Note : The following question is for the Visually Impaired candidates only, in lieu of
Q. No. 21.

Answer the following questions :
21.1 Name the country where ‘Montreal Protocol’ was signed in 1987.
21.2  Name the country where ‘Kyoto Protocol’ was agreed upon in 1997.

21.3  Which country mainly advocated the view that the major responsibility

of curbing gas emissions rests with the developed countries ?
21.4  Which country from North America is known for its forest movements ?

21.5 Mention the South American country which is facing enormous pressure

due to deforestation.

22. ST R FHYHR I TSI bl FRAX FoamRreas a9 o fod STRarEr e aen Sfidies faamai

T FUH HIT | 3+3=6
HYAT

Tt T B Geg & U9Ed, qRA P TSI W GEH U9 Sied ot bl O e

TSATET T AU HISTT | 3x2=6

Describe the external and internal disputes responsible for making the politics of

Jammu and Kashmir continuously controversial.
OR

Describe any three major developments that left a long lasting impact on the politics
of India after the death of Rajiv Gandhi.
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23.  FTYEH gEEE o UK H GaY I A TeRIE H [Geerdur Hiy | 3x2=6
AT
R T TIHETH & & o & Fehgl ol S &30 ot IR1eqor ShifsTy | 3x2=6
Analyse the biggest three constraints that operate on American hegemony.

OR

Examine any three major areas of conflict between India and Pakistan.

24, 1992 T G T TETET FRT TR U TdTdl | UReiferd, TgerT o GRet ukug & Heifed

I T et 61 9o HIfT | 3x2=6
et
e GRETT T Af¥ersh TRt o fafe= STy 7 o BTy | 3+3=6

Describe the three main complaints related to the U.N. Security Council which were
reflected in the resolution passed by the U.N. General Assembly in 1992.

OR

Describe various aspects of human security as well as global security.

25. YRd H G LN AT AR-UTAHT o s ToY i ST 7 STl TABRHT Sl TR0 Hirs(T | 6
3reran

1969 H Ut o oIS o U¥ETd, HIUT YOGl ot JARTAT & folu STRerl uRiefaar &
fareetoT ST | 6

Examine the developments that gave rise to the conflict between the Union

Government and the Judiciary in India.
OR

Analyse the circumstances that led to the restoration of Congress System after the
Party’s split in 1969.

26. 1962 % U YRA-IH FaEl T T TS BT fG9r HIfST | 6
rerat
IRA 10T foeer i Bt wifaqur &1 ¥ o] S q° ST TSl | 99 WA | Al a%
qHA TET 2 IIMER0T T T IS | 6

Analyse the impact on Sino-Indian relations since 1962 onwards.
OR
How far has India been successful in conducting its foreign policy peacefully and

avoiding international conflicts ? Explain with the help of examples.
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27. YagE A H TE-RU oTEeH H 9Rd 7 R UHR Hewqul e e 2 s

FHINT | 6
JreraT

farve =1 T Tr=R 1 Falltess israet! 391, Wiead ¥9 i faafed gan 2 #iE 9 SR T

HIMT | 6x1=6

How did India play a crucial role in the Non-aligned Movement during the Cold War
period ? Explain.

OR

Why did the Soviet Union, the second most powerful country in the world,
disintegrate ? Explain any six reasons.
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